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How you can help your 3 digit place value
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Multiplication Facts

3 times
table

4 times
table

8 times
table

1x3=3
2x3=6
3x3=9
4x3=12
5x3=15
6x3=18
7x3=21
8x3=24
9x3=27
10x3=30
11x3=33
12x3=36

1x4=4
2x4=8
3x4=12
4x4=16
5x4=20
6x4=24
7x4=28
8x4=32
9x4=36
10x4=40
11x4=44
12x4=48

1x8=8
2x8=16
3x8=24
4x8=32
5x8=40
6x8=48
7x8=56
8x8=64
9x8=72
10x8=80
11x8=88
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Division Facts

Divided Divided Divided
by 3 by 4 by 8
3:3=1 4+4=1 8:8=1
6+3=2 8+4=2  16+8=2
9:3=3  12+4=3 24:8=3
12+3=4 16+4=4 32:8=4
15+3=5 20+4=5 40+8=5
18+3=6 24+4=6 48:8=6
21+3=7 28+4=7 56+8=7
24+3=8 32+4=8 64+8=8
27+3=9 36+4=9 72:8=9
30+3=10 40+4=10 80+8=10
33+3=11 44+4=11 88+8=11
36+3=12 48+4=12 96+8=12
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You calculate the
perimeter of a 2D
shape by adding
together all the lengths
of the shape




Time
60 seconds = 1 minte
60 minutes = 1 howr
26 howrs » 1 day
7 days * 1 week
35 doys = | yewr
52 weeks = | yoor

Days in the
Month of
January
February
March
Aprd
May
June
July
August
—Scp'.nmber
. October
November
December
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Mensurement converieny

Length

1 kilometre = 1000 metres
1 metre = 100 centimetres

1 centimetre = 10 milkmetres
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Weight
1 tomne « 1000 Llograms
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1 blogram « 1000 gram: k
1 grom « 1000 miligromn
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Bar Graph
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Angles + to 180
Mogies +10380  This Is an lsoceles irlagle

4 sides

Meavarement canseriion

Capacity

1 litre = 1000 muliitres

1 centilitre = 10 mililires l
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